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#ifdef __cplusplus

extern "C" {

#endif

int A826_Initialize(int CardNo, int BaseAddr, int DmaNo, int IrqNo);
int A826_ActiveBoard(int BoardNo);
int A826_Check_Address(int BaseAddr);
unsigned int A826_DI(void);
void A826_DO(unsigned DigitOutput);
int A826_DA(int Channel, unsigned int data);
void A826_AD_SetChGainMode(int Channel, int Gain, int Mode);
void A826_AD_PollingArray(unsigned int *Buffer, unsigned int Length);
unsigned int A826_AD_PollingVar(void);
int A826_AD_INT_Start(int* Buffer, unsigned int count, int c1, int c2);
unsigned A826_AD_INT_Count(void);
void A826_AD_INT_Stop(void);
int A826_AD_DMA_Start(int far *Buffer,unsigned int count,int c1,int c2);
void A826_AD_DMA_Stop(void);
int A826_AD_DMA_Status(void);
int A826_Delay(unsigned int DownCount);

#ifdef __cplusplus

�

#endif

/***************** DEFINE A826 RELATIVE ADDRESS *****************/
#define   TIMER0     0x00
#define   TIMER1    0x01
#define   TIMER2    0x02
#define   TIMER_MODE    0x03
#define   AD_LO    0x04    /* Analog to Digital, Low Byte  */
#define   AD_HI    0x05    /* Analog to Digital, High Byte */
#define   DA_CH0_LO    0x04    /* Digit to Analog, CH 0 */
#define   DA_CH0_HI    0x05
#define   DA_CH1_LO    0x06    /* Digit to Analog, CH 1 */
#define   DA_CH1_HI    0x07
#define   DIGITIN_LO    0x06    /* Digit Input */
#define   DIGITIN_HI    0x07
#define   DIGITOUT_LO    0x0D    /* Digit Output */
#define   DIGITOUT_HI    0x0E

#define   CLEAR_IRQ    0x08
#define   SET_GAIN    0x09
#define   SET_CH    0x0A
#define   SET_MODE    0x0B
#define   SOFT_TRIG    0x0C

#define   POLLING_MODE 1
#define   DMA_MODE    2
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#define   INTERRUPT_MODE 6

/*** define the gain mode ***/
#define   A826_BI_1    0
#define   A826_BI_2    1
#define   A826_BI_4    2
#define   A826_BI_8    3

/*** define the error number ***/
#define   NoError          0
#define   CheckBoardError 1
#define   CheckDmaError   2
#define   CheckIrqError   3
#define   CardNumError    4
#define   DAchannelError   5
#define   DelayError    6
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#include<stdio.h>
#include<conio.h>
#include"a826.h"

int Base=0x220;
int Buf[1000];

void main(void)
{ int err;
  int i;
  float rate=10.0/32768.0;

  err=A826_Initialize(0,Base,-1,-1);
  if(err){
     if(err==CheckBoardError){
        printf("Address 0 Error!\n");
     }
     else if(err==CardNumError){
        printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  printf("\nCard 0 [polling test]\n");
  printf("Using [A826_AD_PollingArray]\n");
  A826_AD_SetChGainMode(0,A826_BI_1,POLLING_MODE);
  A826_AD_PollingArray(Buf,1000);
  for(i=0;i<1000;i+=100){
         printf("[%3d]%6.3f\n",i,rate*(Buf[i]));
  }
  printf("Using [A826_AD_PollingVar]\n");
  Buf[0]=A826_AD_PollingVar();
  printf("PollingVar=%6.3f\n",rate*(Buf[0]));
}
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#include<stdio.h>
#include<conio.h>
#include"a826.h"

int Base=0x220,Irq=15;
int Buf[1000];
void main(void)
{ int err,i,c1,c2,NowCount,quit=0;
  float rate=10.0/32768.0;

  err=A826_Initialize(0,Base,-1,Irq);
  if(err){
     if(err==CheckBoardError){

printf("Address 0 Error!\n");
     }
     else if(err==CardNumError){

printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  printf("\nCard 0 [interrupt test]\n");
  A826_AD_SetChGainMode(0,A826_BI_1,INTERRUPT_MODE);
  c1=20; c2=20;
  while(!quit){

A826_AD_INT_Start(Buf,1000,c1,c2);
do {
   NowCount=A826_AD_INT_Count();
   if(kbhit() && getch()==27) {
      quit=1; break;
   }
} while( NowCount<1000 );
A826_AD_INT_Stop( );
if(kbhit() && getch()==27) break;
for(i=0;i<1000;i+=100){
    printf("[%3d]%6.3f\n",i,rate*(Buf[i]));
}




������ ����	
��
��������������������������� �������

%���� � �2��(����

!� %-+����')##./$��/0�%��������.�10��
�.�

!� #���������"�������������

!� &�����2)��3�4������������5����������
!� #������������.����������.�///-���.11��6

#include<stdio.h>
#include<conio.h>
#include"a826.h"

int Base=0x220,Dma=1,Irq=15,Buf[1000];
void main(void)
{ int err,i,c1,c2,quit=0;
  float rate=10.0/32768.0;

  err=A826_Initialize(0,Base,Dma,Irq);
  if(err){
     if(err==CheckBoardError){

printf("Address 0 Error!\n");
     }
     else if(err==CardNumError){

printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  printf("\nCard 0 [DMA test]\n");
  A826_AD_SetChGainMode(0,A826_BI_1,DMA_MODE);
  c1=6; c2=6; quit=0;
  while(!quit){
     A826_AD_DMA_Start(Buf,1000,c1,c2);
     while(A826_AD_DMA_Status()){

if(kbhit() && getch()==27) {
   quit=1; break;
}

     }
     A826_AD_DMA_Stop();
     if(kbhit() && getch()==27) break;
     for(i=0;i<1000;i+=100){

 Buf[i]&=0xfff;   /* in DMA mode must change bit 12 to 0 */
 cprintf("[%3d]%6.3f\n\r",i,rate*(Buf[i]));

     }
  }
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#include<stdio.h>
#include"a826.h"

int Base=0x220;

void main(void)
{ int err;
  unsigned int Dio;

  err=A826_Initialize(0,Base,-1,-1);
  if(err){
     if(err==CheckBoardError){
        printf("Address Error!\n");
     }
     else if(err==CardNumError){
        printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  Dio=0x5A5A;
  A826_DO(Dio);
  printf("DO=%4x(Hex)\n",Dio);

  Dio=A826_DI();
  printf("\nDI=%4X(Hex)\n",Dio);
}
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#include<stdio.h>
#include"a826.h"

int Base=0x220;

void main(void)
{ int err;

  err=A826_Initialize(0,Base,-1,-1);
  if(err){
     if(err==CheckBoardError){
        printf("Address Error!\n");
     }
     else if(err==CardNumError){
        printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  A826_DA(0,0x8ff);
  A826_DA(1,0xfff);
  printf("\nDA channel 0=0x8FF(2.5V)\n");
  printf("DA channel 1=0xFFF(5.0V)\n");
}
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#include<stdio.h>
#include<conio.h>
#include"a826.h"

int Base0=0x220;
int Base1=0x240;
int Base2=0x260;
int Buf[1000];

void main(void)
{ int err,Dio,i;
  int quit=0;
  float rate=10.0/32768.0;
  int c1,c2;
  int NowCount;

  err=A826_Initialize(0,Base0,-1,-1); /* card 0:NO DMA,NO IRQ */
  if(err){
     if(err==CheckBoardError){
        printf("Address 0 Error!\n");
     }
     else if(err==CardNumError){
        printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  err=A826_Initialize(1,Base1,-1,11); /* card 1 : NO DMA,IRQ=11*/
  if(err){
     if(err==CheckBoardError){
        printf("Address 1 Error!\n");
     }
     else if(err==CardNumError){
        printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  err=A826_Initialize(2,Base2,1,15);  /* card 2 : DMA=1,IRQ=15 */
  if(err){
     if(err==CheckBoardError){
        printf("Address 2 Error!\n");
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     }
     else if(err==CardNumError){
        printf("Card Number Error!(range:0-7)\n");
     }
     return;
  }
  printf("\nCard 0 [polling test]\n");
  printf("Press any key to begin test\n");
  printf("then Press ESC to end test\n");
  getch();
  A826_ActiveBoard(0);
  A826_AD_SetChGainMode(0,A826_BI_1,POLLING_MODE);
  while(!quit){
     if(kbhit() && getch()==27) break;
     A826_AD_PollingArray(Buf,1000);
     for(i=0;i<1000;i+=100){
         cprintf("[%3d]%6.3f\n\r",i,rate*(Buf[i]));
     }
  }

  printf("\nCard 1 [interrupt test]\n");
  printf("Press any key to begin test\n");
  printf("then Press ESC to end test\n");
  getch();
  A826_ActiveBoard(1);
  A826_AD_SetChGainMode(0,A826_BI_1,INTERRUPT_MODE);
  c1=20; c2=20;
  while(!quit){
        A826_AD_INT_Start(Buf,1000,c1,c2);
        do {
           NowCount=A826_AD_INT_Count();
           if(kbhit() && getch()==27) {
              quit=1;
              break;
           }
        } while( NowCount<1000 );
        A826_AD_INT_Stop( );
        if(kbhit() && getch()==27) break;
        for(i=0;i<1000;i+=100){
            cprintf("[%3d]%6.3f\n\r",i,rate*(Buf[i]));
        }
  }

  printf("\nCard 2 [DMA test]\n");
  printf("Press any key to begin test\n");
  printf("then Press ESC to end test\n");
  getch();
  A826_ActiveBoard(2);
  A826_AD_SetChGainMode(0,A826_BI_1,DMA_MODE);
  c1=6;
  c2=6;
  quit=0;
  while(!quit){
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     A826_AD_DMA_Start(Buf,1000,c1,c2);
     while(A826_AD_DMA_Status()){
        if(kbhit() && getch()==27) {
           quit=1;
           break;
        }
     };
     A826_AD_DMA_Stop();
     if(kbhit() && getch()==27) break;
     for(i=0;i<1000;i+=100){
         Buf[i]&=0xfff;   /* in DMA mode must change bit 12 to 0 */
         cprintf("[%3d]%6.3f\n\r",i,rate*(Buf[i]));
     }
  }
}
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!� (�������� @���������;���������@@��������� ������� 9����������������

5���>���� A������������������>���� ����������0� �5��� ��� ��� ���0

�5�� ��@�>���� ��� ����� "��� �5�� 5���>���� A������ ���� >���

�����������������@@�����:

!� ,5��� �������� ����� ��4�� ����� �5�� ����� ��������� ������ %@� �5�

��������$��������������������������0��5�����@�>�����������������

����5������������������9��@�������;���&<�=���>����
����������

��8�	:

!� %@��5����������$������������������������������5���������������

�5�� ����� ����0� �5�� ��������� ����� ��� �5�� ������� ���� �������� �@

�����������@�"��5���������������

#include   <stdio.h> /***************************/
#include   "A826.h"          /*                              */

/* for A826PG */
unsigned int  Buffer[2000];/* */

/***************************/
main(void)
{
int  Ch,G,i,j;
float  volt,temp,v0,v1,v2,v3,v4,v5,v6,v7;
unsigned int PollData;

A826_Initialize(0,0x220,-1,-1);

for (;;)
{
Ch=0; G=0;   /* Channel_0, Gain=1, Bipolar */
A826_AD_SetChGainMode(Ch,G,POLLING_MODE); /* Polling */
A826_Delay(23*2);   /* GAIN settling time=23 us */
PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=(temp)/327687.0*10.0;
v0=volt;
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Ch=1; G=1;   /* Channel_1, Gain=2,  Bipolar*/
A826_AD_SetChGainMode(Ch,G,POLLING_MODE); /* Polling */
A826_Delay(23*2);   /* GAIN settling time=23 us */
PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=(temp)/32768.0*10.0;
v1=volt/2.0;

Ch=2; G=2;    /* Channel_2,Gain=4,  Bipolar*/
A826_AD_SetChGainMode(Ch,G,POLLING_MODE);  /* Polling */
A826_Delay(25*2);    /* GAIN settling time=25  us */
PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=(temp)/32768.0*10.0;
v2=volt/4.0;

Ch=3; G=3;    /* Channel_3,Gain=8, Bipolar*/
A826_AD_SetChGainMode(Ch,G,POLLING_MODE);  /* Polling */
A826_Delay(28*2);    /* GAIN settling time=28   us */
PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=(temp)/32768.0*10.0;
v3=volt/8.0;

Ch=4; G=4;   /* Channel_4, Gain=1, Unipolar*/
A826_AD_SetChGainMode(Ch,G,POLLING_MODE); /* Polling */
A826_Delay(23*2);   /* GAIN settling time=23 us */
PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=temp/32768.0*10.0;
v4=volt;

Ch=5; G=5;   /* Channel_5, Gain=2, Unipolar*/
A826_AD_SetChGainMode(Ch,G,POLLING_MODE); /* Polling */
A826_Delay(23*2);   /* GAIN settling time=23 us */
PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=temp/32768.0*10.0;
v5=volt/2.0;

Ch=6; G=6;    /* Channel_6,Gain=4, Unipolar*/
A826_AD_SetChGainMode(Ch,G,POLLING_MODE);  /* Polling */
A826_Delay(25*2);    /* GAIN settling time=25  us */
PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=temp/32768.0*10.0;
v6=volt/4.0;

Ch=7; G=7;    /* Channel_7,Gain=8, Unipolar*/
A826_AD_SetChGainMode(Ch,G,POLLING_MODE);  /* Polling */
A826_Delay(28*2);    /* GAIN settling time=28   us */
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PollData=A826_AD_PollingVar();
temp=(float)PollData;
volt=temp/32768.0*10.0;
v7=volt/8.0;

printf("\nA826PGL:[0]=%7.5fV,[1]=%7.5fV,[2]=%7.5fV,[3]=%7.5f",
v0,v1,v2,v3);
printf("\nA826PGL:[4]=%7.5fV,[5]=%7.5fV,[6]=%7.5fV,[7]=%7.5f",
v4,v5,v6,v7);
if (kbhit()!=0) {getch(); return;}
}
}
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#include<stdio.h>
#include<conio.h>
#include<sys\timeb.h>
#include"a826.h"

int Base=0x220;
int Buffer[1000];
struct timeb t1,t2;

main(void)
{
int  i,j,err;
float  volt,temp,t;
unsigned int PollData;

err=A826_Initialize(0,Base,-1,-1);
if(err){
if(err==CheckBoardError){
printf("Address 0 Error!\n");

M
else if(err==CardNumError){
printf("Card Number Error!(range:0-7)\n");

M
return;

M
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for(i=0; i<1000; i++)  Buffer[i]=1024;
A826_AD_SetChGainMode(0,A826_BI_1,POLLING_MODE);
printf("\nWait about 10 sec. to perform 10*100K polling");
ftime(&t1);
for (j=0; j<1000; j++)
A826_AD_PollingArray(Buffer,1000);

ftime(&t2);
t=(float)(t2.time-t1.time);
if (t2.millitm>t1.millitm){
t+=(float)(t2.millitm-t1.millitm)/1000.0;

M
else {
t--;
t+=(float)(1000.0+t2.millitm-t1.millitm)/1000.0;

M
printf("\nStart time : %ld %d",t1.time,t1.millitm);
printf("\nEnd   time : %ld %d",t2.time,t2.millitm);
printf("\nTotal time : %f sec",t);
printf("\nPerformance=%fK\n\n",100.0*10.0/t);
for(i=0,j=0; i<1000;  i+=20,j++){
if( Buffer[i]==0xffff ){
putch(0x07);
printf("A/D convertion timeout in polling mode !!!\n");
exit(0);

M
temp=(float)Buffer[i];
volt=(temp)/32768.0*5.0;
printf("[%04d]:%+5.3f  ",i,volt);
if( j%5==4 )  printf("\n");

M

M
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���>�B���$�9����� 8��F:� ��� B���@�� ������� G������� �5�� ���������
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#include   <stdio.h>
#include   "A826.H"

int   Buffer[2000];
main(void)
{
int DesireCount=2000; /* The count which We desire to transfer */
int  NowCount;       /* The count which is transfering now */
int  i,j,c1,c2;
float  volt,min,max,min2,max2,err,rep;

for(i=0; i<DesireCount; i++)  Buffer[i]=1024;
A826_Initialize(0,0x220,-1,15);
A826_AD_SetChGainMode(0,A826_BI_1,INTERRUPT_MODE);
/* The clock rate of pacer trigger is equal to 2M/(c1*c2). */
printf("\nC1 C2="); scanf("%d %d",&c1,&c2);
printf("\nMin Max="); scanf("%f %f",&min,&max); /* input range */
err=0; rep=0; min2=5.0; max2=-5.0;
for(;;){
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rep++;
printf("\nc1=%d,c2=%d:rep=%.1f,err=%.1f:[%f,%f]",c1,c2,rep,e
rr,min2,max2);
if( A826_AD_INT_Start(Buffer,DesireCount,c1,c2)!=0 ){
putch(0x07);
printf("A826_AD_INT_Start() error !!!\n");
exit(1);

M

do{
NowCount=A826_AD_INT_Count();

M while( NowCount<DesireCount );
A826_AD_INT_Stop( );

for(i=0,j=0; i<DesireCount;  i++){
volt=(float)(Buffer[i])/342768.0*10.0;
if (volt<min2) min2=volt; if (volt>max2) max2=volt;
if (i==0) printf(" : volt[0]=%f",volt);
if ((volt<min) || (volt>max)){
err++;
printf("\nmin=%f, max=%f,volt=%f",min,max,volt);
break;

M

M
delay(300);
if (kbhit()!=0) {getch(); return;}

M

M
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#include   <stdio.h>
#include   "A826.h"

int   Buffer[2000];
main(void)
{
int DesireCount=2000;/*The count which We desire to transfer */
int NowCount;       /* The count which is transfering now */
int ErrorCode;
int i,j,c1,c2;
float  volt,min,max,min2,max2,err,rep;

for(i=0; i<DesireCount; i++) Buffer[i]=1024;
A826_Initialize(0,0x220,1,15);
A826_AD_SetChGainMode(0,A826_BI_1,DMA_MODE);
/* The clock rate of pacer trigger is equal to 2M/(c1*c2). */
printf("\nC1 C2="); scanf("%d %d",&c1,&c2);
printf("\nMin Max="); scanf("%f %f",&min,&max);
err=0; rep=0; min2=5.0; max2=-5.0;
for(;;){
rep++;
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printf("\nc1=%d,c2=%d:rep=%.1f,err=%.1f:[%f,%f]",c1,c2,rep,
err,min2,max2);
if( (ErrorCode=A826_AD_DMA_Start(Buffer,DesireCount,c1,c2)) 
){
putch(0x07);
printf("A826_AD_DMA_Start() error !!!=%d\n",ErrorCode);
exit(1);

M
while(A826_AD_DMA_Status() ){};
A826_AD_DMA_Stop();

for(i=0,j=0; i<DesireCount;  i++){
Buffer[i]=Buffer[i]&0x0fff;
volt=(float)(Buffer[i])/32768.0*5.0;
if (volt<min2) min2=volt;
if (volt>max2) max2=volt;
if (i==0) printf(" : volt[0]=%f",volt);
if ((volt<min) || (volt>max)){
err++;
printf("\nmin=%f, max=%f,volt=%f",min,max,volt);
break;

M

M
delay(300);
if (kbhit()!=0) {getch(); return;}

M

M
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#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <alloc.h>
#include <dos.h>
#include <conio.h>
#include <string.h>
#include <graphics.h>
#include "A826.h"

#define ZERO 204
int   Buffer[2000];

main()
{
int key;
FILE *stream;
char c,buf[80];
int DesireCount=2000;
int i,j,x1,x2,y1,y2,io_base;
float  volt;

init();
printf("\nio base (in hex format) ="); scanf("%x",&io_base);
A826_Initialize(0,io_base,-1,-1);




���� 	 ����	
��
��������������������������� �������

A826_AD_SetChGainMode(0,A826_BI_1,POLLING_MODE);

for(;;){
cleardevice();
sprintf(buf,"Press Any Key Twice To Stop");
outtextxy(5,5+10,buf);

A826_AD_PollingArray(Buffer,DesireCount);

x1=0;
j=Buffer[0]&0x0fff;
y1=j>>5;
y1+=ZERO;
for(i=1; i<127;  i++){
j=Buffer[i]&0x0fff;
j=j>>5;
j+=ZERO;
x2=i*5; y2=j;
line(x1,y1,x2,y2);
x1=x2; y1=y2;

M

for(i=0; i<127;  i++){
j=Buffer[i]&0x0fff;
j=j>>5;
j+=ZERO;
putpixel(i*5,j,RED);
putpixel(i*5,j+1,RED);
putpixel(i*5+1,j,RED);
putpixel(i*5+1,j+1,RED);

M

j=ZERO+64;
for (i=0; i<639; i++)  putpixel(i,j,GREEN);
for (i=0; i<639; i++)  putpixel(i,j-65,GREEN);
for (i=0; i<639; i++)  putpixel(i,j+65,GREEN);
for (j=ZERO-65; j<ZERO+65; j++) putpixel(0,j+64,GREEN);
for (j=ZERO-65; j<ZERO+65; j++) putpixel(639,j+64,GREEN);

for(i=0; i<16;i++){
Buffer[i]=Buffer[i]&0x0fff;
volt=(float)(Buffer[i])/32768.0*10.0;
sprintf(buf,"POLLING : [%02d] --> [%03xH]=%+5.3f
Volt",i,Buffer[i],volt);
outtextxy(5,5+10*(i+3),buf);

M

delay(1000);
if (kbhit()!=0) {getch(); goto ret_label;}

M
ret_label:
getch();
cleardevice();
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closegraph();
M

/* ----------------------------------- */

init()
{
int driver,mode,char_size;

driver=EGA;
mode=EGAHI;
initgraph(&driver,&mode,"");
setactivepage(0);
setvisualpage(0);
setcolor(15);
setbkcolor(0);
settextstyle(SMALL_FONT,HORIZ_DIR,6);

M
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#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <alloc.h>
#include <dos.h>
#include <conio.h>
#include <string.h>
#include <graphics.h>
#include "A826.h"

#define ZERO 204
int   Buffer[2000];

main()
{
int key,c1,c2;
FILE *stream;
char c,buf[80];
int DesireCount=2000; /* The count which We desire to transfer */
int NowCount;       /* The count which is transfering now */
int ErrorCode;
int i,j,x1,x2,y1,y2,io_base,irq_no;
float  volt;

init();
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printf("\nio base  (in hex format, 220) = ");
scanf("%x",&io_base);
printf("IRQ number (in int format, 15)  = ");
scanf("%d",&irq_no);
printf("(100K --> C1=4) --> C1= "); scanf("%d",&c1);
printf("(100K --> C2=5) --> C2= "); scanf("%d",&c2);
A826_Initialize(0,io_base,-1,irq_no);
A826_AD_SetChGainMode(0,A826_BI_1,INTERRUPT_MODE);

for(;;) {
cleardevice();
sprintf(buf,"C1=%d C2=%d --> Sampling
Rate=%5.1fK",c1,c2,2000.0/(float)(c1*c2));
outtextxy(5,5,buf);
sprintf(buf,"Press Any Key Twice To Stop");
outtextxy(5,5+10,buf);

if( A826_AD_INT_Start(Buffer,DesireCount,c1,c2)!=0 ) {
putch(0x07);
printf("A826_AD_INT_Start() error !!!\n");
exit(1);

M

do {
NowCount=A826_AD_INT_Count();
if (kbhit()!=0) {getch(); goto ret_label;}

Mwhile( NowCount<DesireCount );
A826_AD_INT_Stop( );

x1=0;
j=Buffer[0]&0x0fff;
y1=j>>5;
y1+=ZERO;
for(i=1; i<127;  i++) {
j=Buffer[i]&0x0fff;
j=j>>5;
j+=ZERO;
x2=i*5; y2=j;
line(x1,y1,x2,y2);
x1=x2; y1=y2;

M

for(i=0; i<127;  i++) {
j=Buffer[i]&0x0fff;
j=j>>5;
j+=ZERO;
putpixel(i*5,j,RED);
putpixel(i*5,j+1,RED);
putpixel(i*5+1,j,RED);
putpixel(i*5+1,j+1,RED);

M

j=ZERO+64;
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for (i=0; i<639; i++)  putpixel(i,j,GREEN);
for (i=0; i<639; i++)  putpixel(i,j-65,GREEN);
for (i=0; i<639; i++)  putpixel(i,j+65,GREEN);
for (j=ZERO-65; j<ZERO+65; j++) putpixel(0,j+64,GREEN);
for (j=ZERO-65; j<ZERO+65; j++) putpixel(639,j+64,GREEN);

for(i=0; i<16; i++) {
Buffer[i]=Buffer[i]&0x0fff;
volt=(float)(Buffer[i])/32768.0*5.0;
sprintf(buf,"Interrupt : [%02d] --> [%03xH]=%+5.3f
Volt",i,Buffer[i],volt);
outtextxy(5,5+10*(i+3),buf);

M

delay(1000);
if (kbhit()!=0) { getch(); goto ret_label;} }

ret_label:
getch();
cleardevice();
closegraph();

M

/* ------------------------------------------------- */

init()
{
int driver,mode,char_size;

driver=EGA;
mode=EGAHI;
initgraph(&driver,&mode,"");
setactivepage(0);
setvisualpage(0);
setcolor(15);
setbkcolor(0);
settextstyle(SMALL_FONT,HORIZ_DIR,6);

M
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#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <alloc.h>
#include <dos.h>
#include <conio.h>
#include <string.h>
#include <graphics.h>
#include "A826.h"

#define ZERO 204
int   Buffer[2000];

main()
{
int key,c1,c2;
FILE *stream;
char c,buf[80];
int DesireCount=2000;  /* The count which We desire to transfer
*/
int NowCount;       /* The count which is transfering now */
int ErrorCode;
int i,j,x1,x2,y1,y2,io_base,irq_no,dma_no;
float  volt;
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init();
printf("\nio base (in hex format,220)=");scanf("%x",&io_base);
printf("IRQ number(in int format,15) =");scanf("%d",&irq_no);
printf("DMA number(in int format,1/3)=");scanf("%d",&dma_no);
printf("(100K --> C1=4) --> C1= "); scanf("%d",&c1);
printf("(100K --> C2=5) --> C2= "); scanf("%d",&c2);
A826_Initialize(0,io_base,dma_no,irq_no);
A826_AD_SetChGainMode(0,A826_BI_1,DMA_MODE);

for(;;) {
cleardevice();
sprintf(buf,"C1=%d C2=%d --> Sampling
Rate=%5.1fK",c1,c2,2000.0/(float)(c1*c2));
outtextxy(5,5,buf);
sprintf(buf,"Press Any Key Twice To Stop");
outtextxy(5,5+10,buf);
if( A826_AD_DMA_Start(Buffer,DesireCount,c1,c2)!=0 ) {
putch(0x07);
printf("A826_AD_DMA_Start() error !!!\n");
exit(1);

M
while(A826_AD_DMA_Status()) {
if (kbhit()!=0) {getch(); goto ret_label;}

M
A826_AD_DMA_Stop();

x1=0;
j=Buffer[0]&0x0fff;
y1=j>>5;
y1+=ZERO;
for(i=1; i<127;  i++){
j=Buffer[i]&0x0fff;
j=j>>5;
j+=ZERO;
x2=i*5; y2=j;
line(x1,y1,x2,y2);
x1=x2; y1=y2;

M

for(i=0; i<127;  i++) {
j=Buffer[i]&0x0fff;
j=j>>5;
j+=ZERO;
putpixel(i*5,j,RED);
putpixel(i*5,j+1,RED);
putpixel(i*5+1,j,RED);
putpixel(i*5+1,j+1,RED);

M

j=ZERO+64;
for (i=0; i<639; i++)  putpixel(i,j,GREEN);
for (i=0; i<639; i++)  putpixel(i,j-65,GREEN);
for (i=0; i<639; i++)  putpixel(i,j+65,GREEN);
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for (j=ZERO-65; j<ZERO+65; j++) putpixel(0,j+64,GREEN);
for (j=ZERO-65; j<ZERO+65; j++) putpixel(639,j+64,GREEN);

for(i=0;i<16;i++){
Buffer[i]=Buffer[i]&0x0fff;
volt=(float)(Buffer[i])/32768.0*5.0;
sprintf(buf,"DMA     : [%02d] --> [%03xH]=%+5.3f
Volt",i,Buffer[i],volt);
outtextxy(5,5+10*(i+3),buf);

M

delay(1000);
if (kbhit()!=0) {getch(); goto ret_label;}

M
ret_label:
getch();
cleardevice();
closegraph();

M
/* --------------------------------------------------- */

init()
{
int driver,mode,char_size;

driver=EGA;
mode=EGAHI;
initgraph(&driver,&mode,"");
setactivepage(0);
setvisualpage(0);
setcolor(15);
setbkcolor(0);
settextstyle(SMALL_FONT,HORIZ_DIR,6);

M


